Wovk Sheet #|

). X= 147,23 Females L*) )? =20-6
= 3.2 males 5) ey
2\ ';<1L‘a(lg wmales Be«lwcen 20,25
> Belween 0 Yo 91 | |
¢) Belween
o e D-5
= [4a. € TFemales :
! WM~ 2.5

= between 100 -199

3} Mode [S lOeJ’bdt&n o - 99 #7 'ﬁ" “
M x L‘C{'g See V\eyf—'{' Paae —_—
\-

) 257 1) %=t az) €0,6166,70, 78

13) Soi. 20) .06 4 1

(5) No 1)

o) 2

22) S§-
l’l.) 9 o |

() NO, Same T QL
for ok Nnowps



Due: points:

Below is a boxplot of how much Math 160 students pay for a haircut ( including tip)
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7) Find the median amount
that male students spend.
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8) Find the median amount
that female students

spend.
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